=
<

a(o @) (rad)
a(d cot(d))
5

1072

1072

103k

T
= 5
——

= — . ..

1073

10

1074
15

U3 HE - 00
4 ol
1 2 3 -3 -2 -1
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQMstep3_TT_CKF

—e— DQMstep3_TT_default
—— DQMstep3_TT_defaultNEWT203

10

Ratio
Ratl

iy

d) LI LR L B LR
1

Ny =+

|

=

S

SICEWACL
oloa) (cm)

107 i

1078

Ratio

051 b 111 J, """
-3 -2 -1 0 1 2 3
TP n (PCA to beamline)

=

n=
o
.
o
o
o}
107 it i
0102 |tbl Ll | L
=Y SO U O B Hoe
o b ] 4
05f--- ! A
A | utl] bl
9B T 0

2 3
TP n (PCA to beamline)



	Contents
	Page 1


